
Monday Tuesday Wednesday Thursday Friday 
40 x 60 = 
 
4 x 6 = 
 
4000 x 6 = 
 
Calculate 2.09 x 100 = 
 
 
Calculate 29 ÷100 = 
 
 
product of 300 and 6 
 
What is the value of the 
4 in this number? 
435,879 

 
 
Round 76,983 to the 
nearest thousand. 
 
 
 
Write  in Numerals  
LXXVII 
      
 

70 x 60 = 
 
7 x 6 = 
 
7000 x 6 = 
 
Calculate 4.06 x 10 = 
 
 
Calculate 46 ÷100 = 
 
 
product of 500 and 6 
 
What is the value of the 

7 in this number?        

435,879 

  
 
Round 76,983 to the 
nearest ten. 
 
 
 

 
Write in Numerals  
CLXXVII 
 
 

60 x 60 = 
 
6 x 6 = 
 
6000 x 6 = 
 
Calculate 30.4 x 10 = 
 
 
Calculate 504 ÷10 = 
 
 
product of 11 and 6 
 
What is the value of the 

8 in this number?        

435,879 

 
 

Round 76,983 to the 
nearest hundred. 
 

 
 
 
Write in Numerals  
CDLXXVII 

90 x 60 = 
 
9 x 6 = 
 
9000 x 6 = 
 
Calculate 0.29 x 100 = 
 
 
Calculate 8500 ÷100 = 
 
 
product of 15 and 6 
 
What is the value of the 

5 in this number?        

435,879 

 

 
Round 76,983 to the 
nearest ten thousand. 
 
 
 

 
Write in  Numerals 
DCCCLXXVII 

80 x 60 = 
 
8 x 6 = 
 
8000 x 6 = 
 
Calculate 1.98 x 1000 = 
 
 
Calculate 198 ÷100 = 
 
 
product of 200 and 6 
 
What is the value of the 

3 in this number?        

435,879 

 
 

Round 786,983 to the 
nearest hundred 
thousand. 
 
 
Write in  Numerals 
MDCCCLXXVII 

 
 



Calculate 19.3 + 7.8 = 
 
 

 

Calculate 25.06 - 19.67 = 

 
 
What are the factors of 
36? 
  

 
 
29mm = ________cm 
 
 
1/5 of 40 = 
 
 
 
4/5 of 40 = 
 
 
 
 
 

Calculate 19.4 + 7.9 = 
 
            
                
 

Calculate 21.02 - 18.78 = 

 
 
What are the factors of 
35? 
  

 
 
7.06cm = ________mm 
 
 
1/6 of 42 = 
 
 
 
5/6 of 42 = 
 
 
 
 

Calculate 22.66 + 8.4 = 
 

             
               
 

Calculate 12.9 - 9.91 = 

 
 
What are the factors of 
45? 
 
 
 
707cm = __________m 
 
 
¼ of 48 = 
 
 
 
¾ of 48 = 
 
 
 
 

Calculate 22.66 + 8.44 = 
 
               
 
 

Calculate 2.05 - 0.36 = 

 
 
What are the factors of 
10? 
 
 
 
9.04m = __________cm 
 
 
1/10 of 90 = 
 
 
 
7/10 of 90 = 
 
 
 
 

Calculate 3.06 + 3.46 = 
 
             

 
               
Calculate 8.6 - 7.07 = 

 
 
What is the factors of 
60? 
 
 
2.84km = ________m 
 
 
 
1/7  of 28 = 
 
 
 
 
4/7 of 28 = 
 
 
  

Total            /15 Total            /15 Total            /15 Total            /15 Total            /15 
 


